C:# Examining Digit Place Value Name:

Solve each problem.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

Which choice has a4 with the value of 400 or 4 hundreds?
A. 9,564 B. 4,289 C. 7,419 D. 3,246

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 39,154 B. 8,769 C. 3,916 D. 12,798

Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 954,761 B. 678,321 C. 97,461 D. 247,913

Which choice has a 8 with the value of 80 or 8 tens?
A. 812 B. 278 C. 189 D. 38

Which choice has a 8 with the value of 800 or 8 hundreds?
A. 6,825 B. 2,687 C. 248 D. 158

Which choice has a4 with the value of 4,000 or 4 thousands?
A. 84,675 B. 9,473 C. 6,943 D. 68,472

Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 489,352 B. 72,491 C. 36,971 D. 892,576

Which choice has a4 with the value of 40 or 4 tens?
A. 478 B. 64 C. 149 D. 84

Which choice has a 2 with the value of 200 or 2 hundreds?
A. 362 B. 3,286 C. 927 D. 8,124

Which choice has a9 with the value of 9,000 or 9 thousands?
A. 1,659 B. 96,781 C. 49,736 D. 98,761

Which choice has a4 with the value of 40,000 or 4 ten thousands?
A. 167,423 B. 945,286 C. 934,851 D. 68,427

Which choice has a5 with the value of 50 or 5 tens?
A. 845 B.53 C. 45 D.75

Answers

10.
11.

12.

C
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C:# Examining Digit Place Value Name:

Answer Key

Solve each problem.

1) Which choice has a4 with the value of 400 or 4 hundreds?
A. 9,564 B. 4,289 C. 7,419 D. 3,246

2) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 39,154 B. 8,769 C. 3,916 D. 12,798

3) Which choice has a 7 with the value of 70,000 or 7 ten thousands?
A. 954,761 B. 678,321 C. 97,461 D. 247,913

4) Which choice has a 8 with the value of 80 or 8 tens?
A. 812 B. 278 C. 189 D. 38

5) Which choice has a 8 with the value of 800 or 8 hundreds?
A. 6,825 B. 2,687 C. 248 D. 158

6) Which choice has a4 with the value of 4,000 or 4 thousands?
A. 84,675 B. 9,473 C. 6,943 D. 68,472

7) 'Which choice has a 9 with the value of 90,000 or 9 ten thousands?
A. 489,352 B. 72,491 C. 36,971 D. 892,576

8) Which choice has a4 with the value of 40 or 4 tens?
A. 478 B. 64 C. 149 D. 84

9) Which choice has a 2 with the value of 200 or 2 hundreds?
A. 362 B. 3,286 C. 927 D. 8,124

10) Which choice has a9 with the value of 9,000 or 9 thousands?
A. 1,659 B. 96,781 C. 49,736 D. 98,761

11) Which choice has a 4 with the value of 40,000 or 4 ten thousands?
A. 167,423 B. 945,286 C. 934,851 D. 68,427

12) Which choice has a5 with the value of 50 or 5 tens?
A. 845 B. 53 C.45 D.75

Answers
1. C
2. A
3 B
s C
5. A
6. A
7 D
g C
9. B
0. C
u_ B
1. B
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